

# General Study on Polynomials Associated With Humbert Polynomials

Kaur Singh Dhounsi<sup>1</sup>

*Department of Mathematics, Maharshi Dayanand College, Sriganaganagar, Rajasthan, India.*

## Abstract

In this paper, we address a polynomial associated with Humbert polynomials. The main objects of this paper is to provide a natural further step towards the unified presentation of a class of Humbert's polynomials which generalizes the well known class of Gegenbauer, Legendre, Pincherle, Horadam, Horadam-Pethe, Gould, Milovanovic Dordevic polynomials and many not so well known polynomials, we shall give some basic relations involving the generalized Humbert polynomials and then take up several generating functions, hypergeometric representations and finite series representations of some relatively more familiar polynomials Legendre, Gegenbauer, Hermite and Laguerre etc.

AMS Subject Classification (2000) 33 C 45, 33 C 80, 33 C 55

**Keywords and Phrases:** Humbert polynomials, Generating Functions, Gegenbauer polynomials, Horadam polynomials

## INTRODUCTION

Gould [7] presented a systemetic study of an interesting generalization of Humbert, Gegenbauer and several other polynomial system defined by

$$\sum_{n=0}^{\infty} P_n(m, x, y, p, c) t^n = (c - mxt + yt^m)^p \quad \dots(1.1)$$

where  $m$  is a positive integer and other parameters are unrestricted in general. For the table of main special cases of (1.1) including Gegenbauer, Legendre, Pincherle and Humbert polynomials, see Gould [7], Pathan and Khan [8], Milovanovic and Dordevic [5] considered the polynomial

$\{p_{n,m}^\lambda\}_{n=0}^\infty$  defined by the generating function

$$G_m^\lambda(x, t) = (1 - 2xt + t^m)^{-\lambda} = \sum_{n=0}^{\infty} p(x)t^n \quad \dots(1.2)$$

where  $m \in \mathbb{N}$  and  $\lambda > -1/2$ . Note that,

for  $m = 1$ ,  $p_{n,1}^\lambda(x) = \frac{(\lambda)_n (2x-1)^n}{n!}$  (Horadam Polynomials [2]),

for  $m = 2$ ,  $p_{n,2}^\lambda(x) = C_n^\lambda(x)$  (Gegenbauer Polynomials),

for  $m = 3$ ,  $p_{n,3}^\lambda(x) = p_{n+1}^\lambda(x)$  (Horadam-Pethe Polynomial [3]).

where

$$(\lambda)_0 = 1, (\lambda)_n = (\lambda+1)(\lambda+2)\dots(\lambda+n-1); n = 1, 2, 3, \dots$$

The explicit form of the polynomial  $p_{n,m}^\lambda(x)$  is

$$p_{n,m}^\lambda(x) = \sum_{k=0}^{[n/m]} \frac{(-1)^k (\lambda)_{n-(m-1)k} (2x)^{n-mk}}{k!(n-mk)!} \quad \dots(1.3)$$

A generalization of various polynomials mentioned above is provided by the definition

$$\sum_{n=0}^{\infty} \Psi_n^v(x, y) t^n = (c - ax + yt^m)^{-v} \quad \dots(1.4)$$

where  $m \in \mathbb{N}$  and  $v > -1/2$ .

For  $c = y = 1$ ,  $a = 2$ ,  $v = \lambda$  then (1.4) reduces to (1.2).

$$\text{i.e. } \Psi_n^v(x, 1) = p_{n,m}^\lambda(x),$$

for  $a = m$ ,  $v = -p$  then (1.4) reduces to (1.1)

$$\text{i.e. } \Psi_n^v(x, y) = p_n(m, x, y, p, c).$$

Now with the help of [1],

$$(1-z)^{-a} = {}_1F_0[a; -; z] = \sum_{n=0}^{\infty} \frac{(a)_n z^n}{n!} \quad \dots(1.5)$$

Since by [6; p.22(21)]

$$(\alpha)_{n-k} = \frac{(-1)^k (\alpha)_n}{(1-\alpha-n)_k}; 0 \leq k \leq n \quad \dots(1.6)$$

And by [8; p.58 and p.55]

$$(n-mk)! = \frac{(-1)^{mk} n!}{(-n)_{mk}}; 0 \leq mk \leq n \quad \dots(1.7)$$

$$(-n)_{mk} = m^{mk} \prod_{s=0}^m \left( \frac{-n+s-1}{m} \right)_k \quad \dots(1.8)$$

$$(1-v-n)_{(m-1)k} = (m-1)^{(m-1)k} \prod_{p=1}^{m-1} \left( \frac{-v-n+p}{m-1} \right)_k; \dots (1.9)$$

$$(t+v)^n = \sum_{k=0}^n \frac{n! t^k v^{n-k}}{k!(n-k)!}, k=0,1,2,3,\dots \dots (1.10)$$

is interesting since as will be shown, the polynomials  $\Psi_n^v(x, y)$  contain [7], [10], [11] [4; p.164 (1)] as special cases.

In this paper we shall give some basic relations involving the generalized polynomial  $\Psi_n^v(x, y)$  and then take up several operational results, series representations, hypergeometric representations and generating functions of other polynomials, which are stated in terms of the generalized polynomials. This

### Finite Series Representation For $\Psi_n^v(x, y)$

Here we obtain the following two finite series representation for  $\Psi_n^v(x, y)$  viz.

$$(i) \Psi_n^v(x, y) = \sum_{k=0}^{[n/m]} \frac{(-1)^k c^{-v-n+(m-1)k}}{k!(n-mk)!} (v)_{n+(1-m)k} (ax)^{n-mk} y^k \dots (2.1)$$

$$(ii) \Psi_n^v(x, y) = \sum_{k=0}^{[n-(m-2)s/2]} \sum_{s=0}^k \frac{c^{-v-n+(m-1)s} (v)_k (-k)_s}{k!(n-2k-(m-2)s)! s!} \times (2v+2k)_{n-2k-(m-2)s} \left( \frac{ax}{2} \right)^{n-ms} y^s \dots (2.2)$$

### Proof of (2.1)

$$\text{Let } S = \sum_{n=0}^{\infty} \Psi_n^v(x, y) t^n \dots (2.3)$$

Now using (1.4) and (1.5) in (2.3), we get

$$S = c^{-v} \sum_{n=0}^{\infty} \frac{(v)_n}{n!} \left( \frac{axt - yt^m}{c} \right)^n$$

Again by (1.10) and by series rearrangement techniques, we get

$$S = c^{-v} \sum_{n=0}^{\infty} \sum_{k=0}^{[n/m]} \frac{(v)_{n-(m-1)k} (-1)^k (axt)^{n-mk} (yt^m)^k}{k!(n-mk)! c^{n-mk+k}} \dots (2.4)$$

Now equating (2.3) and (2.4) and comparing the coefficient of  $t^n$  on both side, we get the finite series representation (2.1) for  $\Psi_n^v(x, y)$ .

**Proof of (2.2)**

From (1.4), we have

$$\begin{aligned} \sum_{n=0}^{\infty} \psi_n^v(x, y) t^n &= c^{-v} \left[ 1 - \frac{axt}{c} + \left( \frac{axt}{2c} \right)^2 - \left( \frac{axt}{2c} \right)^2 + \frac{yt^m}{c} \right]^{-v} \\ &= c^{-v} \left[ 1 - \frac{axt}{2c} \right]^{-2v} \left[ 1 - \frac{\left( \frac{axt}{2c} \right)^2 - \frac{yt^m}{c}}{\left( 1 - \frac{axt}{2c} \right)^2} \right]^{-v} \end{aligned}$$

With the help of the equation (1.5), we get

$$\begin{aligned} &= c^{-v} \sum_{k=0}^{\infty} \frac{(v)_k}{k!} \left[ \left( \frac{axt}{2c} \right)^2 - \frac{yt^m}{c} \right]^k \left[ 1 - \frac{axt}{2c} \right]^{-2v-2k} \\ &= c^{-v} \sum_{k=0}^{\infty} \sum_{n=0}^{\infty} \frac{(v)_k (2v+2k)_n}{k! n!} \left( \frac{axt}{2c} \right)^{n+2k} \left[ 1 - \frac{yt^m}{(axt/2c)^2} \right]^k \\ &= c^{-v} \sum_{k=0}^{\infty} \sum_{n=0}^{\infty} \sum_{s=0}^k \frac{(v)_k (2v+2k)_n (-k)_s}{k! n! s!} \left( \frac{ax}{2c} \right)^{n+2k-2s} \left( \frac{y}{c} \right)^s t^{n+2k+(m-2)s} \end{aligned}$$

Replacing n by n - 2k - (m - 2)s, we get

$$S = c^{-v} \sum_{n=0}^{\infty} \sum_{k=0}^{[(n-(m-2)s)/2]} \sum_{s=0}^k \frac{(v)_k (2v+2k)_{n-2k-(m-2)s} (-k)_s}{k! (n-2k-(m-2)s)! s!} \left( \frac{ax}{2c} \right)^{n-ms} \left( \frac{y}{c} \right)^s t^n$$

Comparing the coefficient of  $t^n$  on both side, we get the finite series representation (2.2) for  $\psi_n^v(x, y)$ .

**HYPERGEOMETRIC REPRESENTATION FOR  $\psi_n^v(x, y)$**

The finite series representation (2.1) for  $\psi_n^v(x, y)$  is of particular interest to us in obtaining the following hypergeometric form for  $\psi_n^v(x, y)$  viz.

$$\begin{aligned} \psi_n^v(x, y) &= \frac{c^{-v-n} (v)_n (ax)^n}{n!} \\ &\times {}_m F_{m-1} \left[ \begin{matrix} -n, -n+1, \dots, -n+m-1 \\ m, m, \dots, m \end{matrix}; \left( \frac{-m}{ax} \right)^m \frac{y}{c^{1-m} (m-1)^{m-1}} \right] \end{aligned} \quad \dots(3.1)$$

**Proof:** With the help of equations (1.6) and (1.7), equation (2.1) reduces to

$$\psi_n^v(x, y) = c^{-v-n} \sum_{k=0}^{[n/m]} \frac{(v)_n (-n)_{mk} (ax)^{n-mk} y^k}{(1-v-n)_{(m-1)k} (-1)^{mk} n! k! c^{(1-m)k}}$$

Again with the help of equations (1.8) and (1.9), we arrive at (3.1).

### Generating Function For $\psi_n^v(x, y)$

We now obtain the following additional generating function for  $\psi_n^v(x, y)$  viz.

$$\sum_{n=0}^{\infty} \frac{(e)_n \psi_n^v(x, y) t^n}{(v)_n} = \sum_{n=0}^{\infty} \frac{(e)_n c^{v-n} (ax)^n}{n!} \times {}_{m+1}F_m \left[ \begin{matrix} \frac{e+n}{m}, \frac{e+n+1}{m}, \dots, \frac{e+n+m-1}{m}; v+n; -yt^m \\ \frac{-v+n}{m}, \frac{v+n+1}{m}, \dots, \frac{v+n+m-1}{m}; c \end{matrix} \right] \dots(4.1)$$

**Proof:** From (2.1), we have

$$\sum_{n=0}^{\infty} \frac{(e)_n \psi_n^v(x, y) t^n}{(v)_n} = \sum_{n=0}^{\infty} \sum_{k=0}^{[n/m]} \frac{(e)_n c^{v-n} (v)_{n-(m-1)k} (-1)^k (ax)^{n-mk} y^k t^n}{(v)_n c^{(1-m)k} (n-mk)! k!}$$

Replacing  $n$  by  $n+mk$ , we get

$$\begin{aligned} &= \sum_{n=0}^{\infty} \sum_{k=0}^{\infty} \frac{(e)_{n+mk} (-1)^k c^{-v-n-mk} (v)_{n+k} (ax)^n y^k t^{n+mk}}{(v)_{n+mk} c^{(1-m)k} n! k!} \\ &= \sum_{n=0}^{\infty} \sum_{k=0}^{\infty} \frac{(e)_n (e+n)_{mk} (-1)^k c^{-v-n-k} (v+n)_k (ax)^n y^k t^{n+mk}}{(v+n)_{mk} n! k!} \\ &= \sum_{n=0}^{\infty} \frac{(e)_n c^{-v-n} (ax)^n}{n!} \sum_{k=0}^{\infty} \frac{(-1)^k c^{-k} (e+n)_{mk} (v+n)_k y^k t^{mk}}{(v+n)_{mk} k!} \end{aligned}$$

Now using (1.8), we arrive at

$$\sum_{n=0}^{\infty} \frac{(e)_n \psi_n^v(x, y) t^n}{(v)_n} = \sum_{n=0}^{\infty} \frac{(e)_n c^{-v-n} (ax)^n}{n!} \sum_{k=0}^{\infty} \frac{\prod_{j=1}^m \left( \frac{e+n+j-1}{m} \right)_k}{\prod_{p=1}^{m-1} \left( \frac{v+n+p-1}{m} \right)_k} \left( \frac{-yt^m}{c} \right)^k$$

which is equivalent to (4.1).

**Special Cases**

I. For  $a = m; c = y = 1$  then (2.1) and (2.2) reduces to

$$h_{n,m}^v(x) = \sum_{k=0}^{[n/m]} \frac{(-1)^k (v)_{n+(1-m)k} (mx)^{n-mk}}{k!(n-mk)!}, \quad \dots(5.1)$$

$$h_{n,m}^v(x) = \sum_{k=0}^{[(n-(m-2)s)/2]} \sum_{s=0}^k \frac{(v)_k (-k)_s (2v+2k)_{n-2k-(m-2)s}}{k!(n-2k-(m-2)s)! s!} \left(\frac{mx}{2}\right)^{n-ms} \quad \dots(5.2)$$

where  $h_{n,m}^v(x)$  is Humbert polynomial [10].

Equations (5.1) and (5.2) are known results [8; p.56 (2.6 and 2.7)].

II. For  $m = a = 3, v = 1/2$  in (5.1) and (5.2), we get

$$P_n(x) = \sum_{k=0}^{[n/3]} \frac{(-1)^k (1/2)_{n-2k} (3x)^{n-2k}}{k!(n-3k)!} \quad \dots(5.3)$$

$$P_n(x) = \sum_{k=0}^{[(n-s)/2]} \sum_{s=0}^k \frac{(1/2)_k (-k)_s (1+2k)_{n+2k-s}}{(n-2k-s)! k! s!} \left(\frac{3x}{2}\right)^{n-3s} \quad \dots(5.4)$$

where  $P_n(x)$  is **Pincherle polynomial** [9].

Equations (5.3) and (5.4) are known results [8; p.56 (2.8 and (2.9)].

III. For  $a = m = 2$  and  $v = 1/2$  then (5.1) give the finite series representation of Legendre polynomial [4; p.161(1)].

IV. For  $a = m = 2$ , then (5.1) give finite representation of Gegenbauer polynomial. [4; p.277(2)].

V. For  $a = m, y = c = 1$  in (3.1), we get the following hypergeometric representation of Humbert polynomial

$$h_{n,m}^v(x) = \frac{(v)_n (mx)^n}{n!} \times {}_mF_{m-1} \left[ \begin{matrix} -n, -n+1, \dots, -n+m-1; \\ m, m, \dots, m \end{matrix}; \frac{(-1)^m}{(m-1)^{m-1} x^m} \right] \dots(5.5)$$

which is a known result [8; p.58 (3.6)].

VI. For  $m = 2$ , (5.5) gives hypergeometric representation of Gegenbauer polynomial

$$C_n^v(x) = \frac{(v)_n (2x)^n}{n!} {}_2F_1 \left[ \begin{matrix} -n, -n+1; \\ 1-v-n \end{matrix}; \frac{1}{x^2} \right] \quad \dots(5.6)$$

which is a generalization of a known result [4; p.66(4)].

VII. For  $a = m, y = c = 1$  in (4.1), we get the generating function for Humbert polynomial

$$\sum_{n=0}^{\infty} \frac{(e)_n h_{n,m}^v(x) t^n}{(v)_n} = \sum_{n=0}^{\infty} \frac{(e)_n (mx)^n t^n}{(v)_n} {}_{m+1}F_m \left[ \begin{matrix} v+n, \frac{e+n}{m}, \dots, \frac{e+n+m-1}{m}; \\ \frac{v+n}{m}, \frac{v+n+1}{m}, \dots, \frac{v+n+m-1}{m} \end{matrix}; -t^m \right] \dots(5.7)$$

which is a known result [8; p.60(4.7)].

For  $e = v$ , further reduces to a known result [6; p.86(26)].

VIII. For  $m = 3, v = 1/2$  in (5.7), we get the generating function for Pincherle polynomial  $P_n(x)$

$$\sum_{n=0}^{\infty} \frac{(e)_n p_n(x) t^n}{(1/2)_n} = \sum_{n=0}^{\infty} \frac{(e)_n (3xt)^n}{n!} {}_4F_3 \left[ \begin{matrix} \frac{1}{2}+n, \frac{e+n}{3}, \frac{e+n+1}{3}, \frac{e+n+2}{3}; \\ \frac{1}{2}+n, \frac{3}{2}+n, \frac{5}{2}+n \end{matrix}; -t^3 \right]$$

which is a known result [8; p.60(4.8)].

For  $e = 1/2$  which further reduces to a known result [7; p.697].

## REFERENCES

- [1] A. Erdelyi, W. Magnus, F. Oberhettinger and F.G. Tricomi, Higher Transcendental Functions, Vol.1, McGraw-Hill, New York, Toronto and London (1953).
- [2] A. Horadam, Gegenbauer polynomials revisited, *Fibonacci Quart.* 23 (1985), 295-299, 307.
- [3] A. Horadam and S. Pethe, Polynomials associated with Gegenbauer polynomials, *Fibonacci Quart.* 19 (1981), 393-398.
- [4] E.D. Rainville, *Special Functions*. Macmillan, New York; Reprinted by Chelsea Pub. Co., Bronx, New York, 1971.
- [5] G.V. Milovanovic and G.B. Dordevic, On some properties of Humbert's polynomials, *Fibonacci Quart.* 25 (1987), 356-360.
- [6] H.M. Srivastava and H.L. Manocha, *A treatise on generating functions*, Halsted Press (Ellis Horwood Ltd., Chichester), John Wiley and Sons, New York, Chichester, Brisbane and Toronto, 1984.
- [7] H.W. Gould, Inverse series relation and other expansions involving Humbert polynomials, *Duke Math.J.* 32 (1965), 697-711.
- [8] M.A. Pathan and M.A. Khan, On polynomials associated with Humbert polynomials *Pub. DeL'Institut mathematique, Nouvelle Serie, Tome 62 (76)*, 1997, 53-62.
- [9] P. Humbert, Some extension of Pincherle's polynomials, *Proc. Edinburgh Math. Soc.* 39 (1921), 21-24.
- [10] P. Humbert, Sur une generalization de l'equation de Laplace, *J. Math. Pures Appl.* 8 (1929), 145-159.
- [11] P. Humbert, Potentiels et prepotentiels, *Cahier Scientifiques, Fasc. 15, Paris, 1936, JFDM, 62, 1293.*